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Balancing Equations

Balance the following chemical equations.

. 2 Fe + 3 HxS04
2. 2 CuHe + 7 0O
3. _3  KOH + 1  H3POq4
4. _1 S5m0, + 2  H
5. _ 4  NH; + 5 0
6. _ 2  KNO; + 1  HyCO3
/. 1  BBre + 6 HNOs
8. 2 BF3 + 3 LiSOs3

0. 4 (NH4)3PO4 + 3 Pb(NO3)4

10. 1 SeClg + 1 0;
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Balancing Equations

Balance the following chemical equations.

1. 1
2. 2
3. _4
4. 1

CH4

Na*

5. 8 CO(qg)

Fe20s(s)

7. 2 H.S04

o 8 1

Al

Caz(PO4)>

10. 1 H3POy4
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Balancing Equations
Balance the following chemical equations.
1. 1 SiC() + 2 HO() —> _1  SiOs) + _4 _ HC(aq)
2. _2 As + _6_ NaOH —> _2 NaAsO; + _3  H
3. 1 AwSs + 3 H —> 2 Au + 3 HsS
4. 1 V0s + _6  HO —> _2 VOC3 + _3 HO
o 3 Hg(OH), + 2  H3POq4 ——> 1 Hg3(PO4); + _6  HO
6. _1 SO, +_4 HF —> 1 SF, + 2  HO
/. 1 Zn + 2 HO —> 1  ZnCh + 1  H
8 12 HCOs + _1 POy —> 4  HPOs + 6  ClLO;
9. _2 N9 +_5 09 +_2 HO —>_ 4  HNOsaq)
0. _2 NHNO; —> _2 N+ _1 0, + _4  HO
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Balancing Equations

Balance the following chemical equations.

L. _2  Ad
2. 1 NasPO,
3. _1  BalN;
4. 1  TiCl4
5. 3 CacCl
6. 2  NaBr
7. 1 Mg(OH);
8 _4  FeS
9. _ 1  PCs
10. 1  GCHe¢O
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Chemical Equations Name

Bnmncing Equations cvfmllmga

Part A: Parts & Pieces
(1) Circle each subscript in each chemical formula.
(2) Draw a square around each coefficient.
(3) Answer the questions related to each chemical formula.

O, CO, SH,

What element does the O represent? How many atoms of each element How many atoms of Hydrogen are
YA are in the formula shown? in this formula as shown?
: f ) C= pi § O=__ A 1O

2C2H6 2Na28 04

How many atoms each element How many atoms each element
are in ﬂ(lj formula shown? are in the formula shown? g

C= H=_)3 Na=__ 44 s=_3 0=

Part B: Label the chemical equation using PRODUCT, REACTANTS, SUBSCRIPT, COEFFICIENT, and YIELDS.

| Yelds/prodinces |

feoctontS produnc +
= T —

( sub SCript I ‘ Coefticient
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Part C: Balance each of the following equations.

BHZ + 02 “"aHgo

H=44 H=4"4 W=z
O=a O=X2 Q=&Y
N, + 3H, — ) NH; P, + 20,
N=3Q N=2"2 P=y
H=&¢  H=3% W
2ALO; — YAl + 20,
Al=z'Y Al=X4
Q=2¢ O=F¢

3CHs + /O, — 4CO, +4 H0
C:ghl C:,Q-/l}-
H# 12 =415

O =4 O =3

BH202 —> 31_120 + O

Remember — List the atoms, count, and solve!

L,‘-Na + 0O, — ;?NaZO

H=a4 Na=24 Now=2'4

O=44 O=2 Q=Y2
— P40 C +3H, — CH,
Pty C =1 ol
O=¢ H=&4 H=

AFe + 4YH,0 —  Fe;04 + YH,

Fe-"-‘,l/ 3 Fe*J
28 g §
0=X4 O =4
Na,SO, + CalCl, — CaSO4 + JNaCl
a= N&:Za
2]:1 * Sl’—"j_
04 Q=1
Lozl Cerl
Cl=3 Cl=X2
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Worksheets - Balancing Equations

Arkansas State University

Department of Chemistry
and Physics

Balancing Equations

Yy

Worksheets

Problems with *** are the most difficult. If you can balance these, you can balance any equation given in class.

C =2 =43
L CyHg "‘502"')3(302 + LH,0 giglo 8 22’/ |O
i 2, Al (SO;3)3 +'6N30H '@“2803 "QM(OH)” Al=d No= 26 Al =Xd ¢ -
| No=46S =3 H =2 O:,gj’fé A3

i 3.  H-ALO,; +?Fe-»gFe304 +gA1 H -‘-‘,Zg Q= ’/}6 IS

AI=Z€ 0% FexX9 A28 O3 FosZ9
4. aKC]03-‘aJ(Cl '@2
R=22 =42 Q%8 K=12 Cl=Xa O =344
| 5. NH NO; —»N,0 +3H,0
Nz H=4 O=3 N:z2 M =&Y O=&32
%’/ ~ JNaHCO; —>Na,CO; + H,0 + CO,
Nﬂu-‘-'ﬁ H:.XQ C-‘-"-ﬂ_’; O:Bfg Na =3, L =ga O=8%4 H=2
7. P,0,, +5H0 '—’%Hsmfl
Py O=)K H:=Z1B H=Zld Pz} O =4 I
;: 8. AAl +3H;S04 —> AL (8O0y);3 +H,
 Alsxa Hixe 3 O=H12 Al=3 $=3 O =14 =5
% 9.  Be,C + 1,0 —33Bc(OH), + CHy
i Besa (<1 hH=x¥ O=11 Be=4a (= H=34% O=284
\ 10.5%% S +6HN03-"9 H,S04 +-6.N02 +2H,O
' $-1 H=xé NX¢ 02K 51 HH6 nN=g4 o0:7Z8

, 11.  NH; +3Cu0—32Cu + N, +3H,0
NzZa HeZ6 Cu=X3 Q=43 (wX3 N=3  H=ds 0=7Z3

12.4%% 3Cu + THNO; =7Cu(NO;), +aNO +4H,0

t — @319(3’ Cu‘-'-'-)-/l?
H=x2 54§ N =X H4"8
N=ZZHES L S 741

O:ZF K O=87)916 5718

R i A g mﬂﬁ.i I.W"‘_wm
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